Some Maths challenges using the learning you have been practising. You might need to look back at this.
a) Bob spends 1/5 of his £60 wages whilst Jill spends 1/6 of her £84 wages. Who spends more and by how much?

b) Sid earns £7.50 and hour and Jen earns £8.25 and hour. Sid works for 6 hours and Jen for 5 hours. Who earns more and by how much?


c) Bill shares £65 between his five friends and Lin shares £72 between her 6 friends. Sam is a friend of Bill’s and Jen is a friend of Lin’s. How much more does Sam get than Lin?
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d) A loaf of bread has 22 slices of bread. Loaves are packed into trays, each tray holding 10 loaves. How many slices of bread will there be in 5 trays?

e) Jim and Jen’s uncle has bought them both a car. Jim’s cost £2875 and Jen’s cost £3185. How much less di Jim’s car cost?
